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.
SCENCE AND TECHNOLCGY

INSTRUCTIONS TO CANDIDATES
ANSWER QUESTION ONE (COMPULSORY) AND ANYOTHER TWO QUESTIONS
QUESTION ONE (30 MARKYS)

a) Solve the following quadratic equation ; 4x? — 10x + 6 = 0 (3 Marks)
b) State THREE advantages of median as a measure of central tendency (3 Marks)
C) Differentiate the following function, y = —2x°% — 5x73 + 6 (3 Marks)

d) Given the following two matrices

A:[g —74] B:[—26 (1)

Compute:
i) A+B (2 Marks)
i) B-A (2 Marks)
e) Convert the following number system
1) 784, to decimal (3 Marks)
i) 865, to octal (3 Marks)
f) A bag contains 3 red and 4 black balls. A man picks 2 at random, find the probability of
picking 2 red balls. (3 Marks)
0) Compute the median from the following data, 51,65,40,44,46,55,48,62, 70. (3 Marks)
h) Solve the following simultaneous equation;
3x—4y =1
2x+3y =4 (5 Marks)

QUESTION TWO (20 MARKS)
a) The distribution of weights measured o the nearest kilogram(kg) of 50 girls is as shown below.

Weight (Kg) | 10-20 20-30 30-40 40-50 50-60 60-70 70-80
Frequency 1 5 11 15 10 5 2
Compute
1) Mean (3 Marks)
i) Median (4 Marks)
i) Mode (3 Marks)
iv) Quartile deviation (5 Marks)

V) Standard variation (5 Marks)




QUESTION THREE (20 MARKYS)
a) Given the following matrices A and B
3 4

-2 3 6
15| B
8 2 3 7 —6
Determine the following;

A=

) Transpose of A (1 Marks)
i) BA (3 Marks)
i)  BT+A (3 Marks)
iv) (BA)™! (3 Marks)
From the following distribution, calculate
) Geometric mean (5 Marks)
i) Harmonic mean 5 Marks)
Class 40-50 50-60 60-70 70-80 80-90 90-100
interval
Frequency | 20 25 36 72 51 40
QUESTION FOUR (20 MARKYS)
a) Convert each of the following number system to their respective equivalents
) 7254 to decimal (2 Marks)
i) 562, to octal (3 Marks)
iii) 852,, to binary (3 Marks)
iv) 101101, to decimal (3 Marks)
V) 258, to decimal (2 Marks)
b) Solve by Substitution method; (4 Marks)
3Xx+2y=3
5x+3y=15
C) Solve by Matrix method,; (4 Marks)
4x+y =6
2X-y = -3
QUESTION FIVE (20 MARKYS)
a) Outline four characteristic of a good measure of dispersion. (4 Marks)
b) Solve by Elimination method,;
4Ax+3y=7
3x-2y=9 (5 Marks)
C) Find out the derivatives of the following functions,
i) y=5x>+3x3+4x"2+6 (3 Marks)
i) y=—=2x*+7x>+4x% -3 (3 Marks)
d) Integrate the following functions with respect to x
i) y=8x3—-3x2+8x"2-10 (2 Marks)

i) y=3x*+3x"*+2

(2 Marks)




